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Sesamin

Agilent HC-CS, 5 um , 4.6*250 mm , 0.5 mL/min

MeOH : H20 = 65 : 35

10




H0.8815, 168316, 1136, ROTATION=
1.87,155-40.21 , 1S5(TC=46.21,5.R =170.8
8.[0H0=.11 PR ITY=0,42,P0L=0, 18, TEWP=27
J,L=108, HAVELENETH=503, ATAGD AP-268, 5
AAJGER 1= AJSER HAME
H0.Ba16, 168316, 1137, ROTATION=
1.13,155-40.37 IS5 TC 240,37, 5.R =4 8,
8, CTHC=R. 26, PURTTY=R, 76, FL=0,, 18, TENP=2
7.8,L=188 HAVELENETH=009,ATRED AP-308,5/

= ABER D= AISER NAH
= :
10,6817, 186016, 1138, (ROTATION=

HL87, 155=48.21 1S TC =40.21,5 R .=178.8
8, 00NC=R. 11, FURTTY=8,42,PIL=0. 18, TEIP=26
3,L=108, HAVELERETH=D63, ATRGD AP-368,5M
AIGER = ARER HAE
H0.8818, 188916, 1133, ROTATION=
.87, 1554020 IS TD =40, 21, S.R.=178.8
8. CONC=8, {1 PURITY=R.42,P0L=4, 18, TEWP=26
J9L=108, HAVELENETH=083, ATAGD AP-208,54
ABER IB= SUSER NAME

HO.8819, 188516, 1148, RITATION=
8,88, 15540, 23, 185 TC = 40,22, 5.8 ,=180.8
8,C0HC=8,12,FURITY=0. 46, POL=3. 11, TENP=20
B-L=188, HAVELEETH=189, ATAED AP-208,5N
ARER ID= AISER HAME
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Sesamolin
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W0.B006, 100916 1118, —  — ,ROTATION=
18.18,155=18.52, IS(TC =48.52. 5.R .= H 8.
8, C0MC=, 27 PURITY=1.85, POL=0.25, TEP=2
&.5,L=168, HAVEL ENETH=009.ATAGD AP-308,5/

i AR Il= ;LSER WA
k= ’
100887 188516, 1119, ROTATION=

18.28,155=40.57 . IS TC-40.57, 5.R . =1208,
88, CTHC=8.38, PURTTY=1. 14, P0L=0. 27, TEWP=2
7.8:1=108 WAUEL ENGTH=009ATHED AP-308,5/

= ABER 1= -LSER HAM
E= ’
0. 6688, 168916, 1128, -ROTATION=

18.19,155=48,36. 155( TC =40.56, 5.R =%,
8, C0HC=8.29, PURITY=1.. 14, POL=R.27, TENP=2
7. 1.L=108, WAUELENETH=082, ATRED AP-308,5/

i ABER 1= -USER MM
E= Fi
1.6689, 188016, 1121, (ROTATION:

#.21,155=48.68, 135( TC =40.68, 5.R .=4218.
8, C0NC=8, 32, PURITY=1, 18,PIL=5 .28, TEP=2
7.3, =188 HAVELENETH=323, ATRED AP-308,5/

= ABER 1= /LSER AR
E= :
HO. 6818, 168316, 1122, (ROTATION=

18.22,155=18.64, 155 TC)=48.64, 5.0, =128,
8, C0HC=8. 33, PURTTY=1, 27, FUL=8, 38, TENP=2
7.3:L=108, HAVEL ENETH=389,ATRED AP-308,5/
¥ SER 1= /ISER N
= . —
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